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QUESTION 1

Which component is required to use VMware Distributed vSwitches (vDS)?
A. VMware NSX-T

B. VMware SD-WAN

C. VMware Identity Manager

D. VMware vCenter Server

Correct Answer: A

Reference: https://www.altaro.com/vmware/vsphere-distributed-switch-guide/

QUESTION 2

A customer needs help detecting lateral threat movement on east-west network traffic across multi-cloud environments.
Which solution should the customer use?

A. VMware HCX

B. NSX SD-WAN

C. NSX Distributed IDS
D. NSX Intelligence

Correct Answer: C

QUESTION 3

Which component is the key value for the VMware approach of a software-defined data center (SDDC)?
A. Vendor agnostic platform

B. Vendor specific network

C. Vendor specific x86

D. Vendor specific storage

Correct Answer: A
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QUESTION 4

What is one way to access the NSX Manager?
A. vSphere Client with a supported browser

B. NSX Ul with a supported browser

C. NSX Manager via Telnet

D. NSX Manager through a dedicated fat client
Correct Answer: B

Reference: https://docs.vmware.com/en/VMware-NSX-Data-Center-for-vSphere/6.4/com.vmware.nsx.admin.doc/GUID-
CE5C4FD1-CFA7-49F3-B170-BC08CC15A9FB.html

QUESTION 5

A customer needs to create a multi-tier network infrastructure. What does the customer need to do to create this
infrastructure?

A. Connect segments to a Tier-1 gateway, and connect the Tier-1 gateway to the Tier-O gateway.
B. Connect segments to the Tier-1 gateway only.
C. Connect segments to a Tier-0 gateway, and connect the Tier-0 gateway to the Tier-1 gateway.
D. Connect segments to the Tier-0 gateway only.

Correct Answer: D
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